> A
A & 0l & AF 2 E A A
20218 & =04k LBHSIH el =Xt
2H o=
Mo LoI=XEX
ool Lo=X B (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
L= 1,032,330,782 934,798,047 97,532,735
= 929,067,685
J| 1,815,000
< 101,448,097
Lo sXNsd 1,032,282,995 934,705,773 97,577,222
= 929,067,685
J| 1,815,000
< 101,400,310
Lo=sX &4 1,032,282,995 934,705,773 97,577,222
= 929,067,685
J| 1,815,000
< 101,400,310
=3 Xa 859,971,612 765,438,535 94,533,077
= 826,765,651
= 33,205,961
308 MtXIEHSOIH 859,971,612 765,438,535 94,533,077
= 826,765,651
< 33,205,961
01 HXNHHNBHELS 859,971,612 765,438,535 94,533,077
OJI=da Xa 859,971,612,000 859,971,612
= 826,765,651
< 33,205,961
oY & Lo0H WE 24,480 34,200 A9,720
308 AHXIEHSOIA 24,480 34,200 A9,720
01 HXNHHNBHELS 24,480 34,200 29,720
OLolold N(HaEZ) 24,480,000 24,480
HEM=s0lH =4 300,000 0 300,000
403 MtXISHH S =0l & 300,000 0 300,000
01 XM A2E X 300,000 0 300,000
Oz =06 &AL 300,000, 000 300,000
CHeteolsl 2 L olthset XI& 923,250 704,975 218,275
307 21201 A 230,325 264,550 A 34,225
10 ALSISXAIEEE2EHEX 151,607 170,000 A 18,393
Ousteols EHes 29 N (EZZEX)
151,607,000& 151,607
11T M SRASEEX 78,718 94,550 A 15,832
OUst-0ls SHEs Argd X (ZZEX)(0l
aHE2H) 57,418,000 57,418
O HEs Lous 45 XA (0aE2)
15,300, 000 15,300
OZ2Y Z20d 2AMESUS 6,000,000 6,000
308 A EHHSOIA 437,425 405,425 32,000
01 HXNHHNBMNELS 437,425 405,425 32,000




2AM: LelsX
Hu: Lo=XEA
el Lol=x =& CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O HIANAEH 2Y XA 10,800, 000 10,800
OXY Lolihs g5 XA (0aE2)
133,875,000 133,875
OL0ol3] AFY XI& (0l AFE 2}) 45,900,000 45,900
OAl= Lol SHsS 23 Mg X2 (oaE
) 53,550,000 53,550
OOEU2 & MEXNH(oaEZ)
168,300,000 168,300
Osd oHz2d s30H3 25,000,000 25,000
403 XAXISH M S K201 A 255,500 35,000 220,500
01 X SHM A2 X 255,500 35,000 220,500
O&EQAl Lol M= JIs2Z 200,000,000 200,000
OEgAXE A2+ 7+ X& 11,000,000 11,000
OEdAl Loz I8 €x & JIs:=E2
12,500,000 12,500
Osdz L3 JIs:Ed 32,000,000 32,000
Lol=Ra 29 X 126,925 17,700 109,225
307 21201 A 17,425 17,700 A275
11T AISI S XA E X 17,425 17,700 A275
OLoaASA L HEA HEH(0&EZ)
8,925,000 8,925
Okol=2Xa SaZ20d LHS (MaE)
8,500,000 8,500
403 MtXISHHE X201 E 109,500 0 109,500
01 AXSHMA=2EE 109,500 0 109,500
OHEQAl LSS =X2 CH 2 A
40,000,000 40,000
ootsusLd=EX2 =s2J wA 35,000, 000 35,000
OYZA gR2o=2X2 ds22elAlAE
g 24,000,000 24,000
OOFAFAl HITHEH ZIAIAE 25 10,500,000 10,500
CO=ETAE BI2EXE 16,700 0 16,700
201 LBr2d| 16,700 0 16,700
01 At 2t 2l 16,700 0 16,700
OLe=XAE EiI2d XA 16,700,000 16,700
LO=EX SHAY 40,000 40,000 0
201 L2l 40,000 40,000 0
01 At 221l 40,000 40,000 0
OLQ=X LMY 28 40,000,000 40,000
Colgditel ¢ A ESKH =i 88,837,029 79,585,300 9,251,729
= 68,339,485
< 20,497,544




2N
X ZH -
L= B

el

5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
308 XHXIEHSO|A 88,837,029 79,585,300 9,251,729
= 68,339,485
& 20,497,544
01 AIXSHMEMNEX= 88,837,029 79,585,300 9,251,729
owodxiel & A& SX& 88,837,029,000 88,837,029
= 68,339,485
=} 20,497,544
ALIHEE &9 A& 1,070,740 1,006,488 64,252
308 XAHXIGHH SO0l & 1,060,740 976,488 84,252
01 IXHHIMNEXS 1,060,740 976,488 84,252
OAILIZE2Y 29Hl X (0aE2)
1,025, 100,000 1,025,100
OALIHZEYE SAMAN A2MA 35,640,000 35,640
403 XX S M S K201 A 10,000 15,000 A5,000
01 XS A2E X 10,000 15,000 A5,000
OFLZ AMULONEY NEEMNE S 82 A YH
OlRA 8 AEE &X 10,000,000 10,000
wol 2 Xtel K& (XHAD) 172,087 179,053 6,966
308 MXISHMSOIA 172,087 179,053 6,966
01 IXHHIMNEEXTZ 172,087 179,053 6,966
OLeoldxie N2 N (HaE2)
172,087,000 172,087
SHOIMOIZEXRME &9 230,000 230,000 0
307 gizto| A 230,000 230,000 0
05 QIZtR E S 230,000 230,000 0
OSHEAMOIZEXJEEH 29 230,000,000 230,000
MNEsyE g dxel N 186,000 186,000 0
= 93,000
o= 93,000
307 QI2t0| ™ 186,000 186,000 0
= 93,000
=} 93,000
05 QIZtREZ 186,000 186,000 0]
OjrlEsyd 3y dXel N 186,000,000 186,000
= 93,000
& 93,000
dze XN 2,428,322 3,440,568 N 1,012,246
308 AXIEHSOIA 1,351,322 1,490,664 A 139,342
01 AIXSHMENMNEX= 1,351,322 1,490,664 N 139,342
OZ2Y 2 (0aE2) 1,351,322,000 1,351,322
403 XX SHHS K20 & 1,077,000 1,949,904 N 872,904




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 XIS A2 X 1,077,000 1,949,904 N 872,904
Odzd ds=s ¢ Jsesd 1,077,000, 000 1,077,000
A2 ditgtyl & 2=2H| XJ 6,090,000 6,282,000 A 192,000
= 3,045,000
& 3,045,000
308 XNXISHH SO0l & 6,090,000 6,282,000 A 192,000
= 3,045,000
& 3,045,000
01 IXHHIMNEXZ 6,090,000 6,282,000 A 192,000
OZ2E Wetgry] o 2k=2H| X«
6,090,000,000 6,090,000
= 3,045,000
= 3,045,000
A2 XN ZIHEH2YE 290,740 289,240 1,500
= 145,370
& 145,370
307 giztol A 290,740 289,240 1,500
= 145,370
& 145,370
10 MM SAANEEHESIHEX 290,740 289,240 1,500
OZzE XN ZAHEH 29 290,740,000 290,740
= 145,370
= 145,370
BALALQ 22 Z2AAIY 819,049 963,587 A 144,538
308 XX SHHSOIH 819,049 963,587 A 144,538
01 IXHHINMNEEXTZ 819,049 963,587 A 144,538
OMASTHIIEQl AIAFHHE (0l AFE 2H)
502,707,000 502,707
OR2HFZ ALY 2 (0laE2) 316,342,000 316,342
SHEO N (B2sHEE 29) 317,293 320,435 N3, 142
308 XHXIEHSOIA 215,845 253,935 A 38,090
01 AIXSHMENMNEX= 215,845 253,935 A 38,090
OSHE ZSHMEE 2 (0AEZ)
215,845,000 215,845
403 XX SHHM S X201 A 101,448 66,500 34,948
01 XS A=2E X 101,448 66,500 34,948
OSHEQ Z2SMEE (0 AEZ)
101,448,000 101,448
Lolgt==s=2 Ul A AIS RN (HEHH) 107,080 26,351,495 N26,244,415
2 74,940
=} 32,140
307 212t0| ™ 107,080 107,190 A 110
2 74,940
o=} 32,140

~




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 AL SXNAIEEE2EH EX 107,080 107,190 A 110
OLolstEssSMEIAAY XA (HBHH)
107,080,000 107,080
2 74,940
< 32,140
LogEESEMUIA AFL XA (KIGHE) 29,659,535 0 29,659,535
= 24,425,780
< 5,233,755
308 A EHHSOIA 29,659,535 0 29,659,535
= 24,425,780
< 5,233,755
01 HIXNHHNBMNELS 29,659,535 0 29,659,535
OLolgtEssMEIA Al XA (XSEHH)
29,659,535,000 29,659,535
= 24,425,780
< 5,233,755
LolgtEssMUA 2D X2 (RHA) 892,080 464,130 427,950
307 gl2tol & 5,400 5,400 0
10 AL SXNAIEEE2EH EX 5,400 5,400 0
OLoARESEMEIA HR2MLY XA (HEH
H) 5,400,000 5,400
308 XX EHH SOl A 886,680 458,730 427,950
01 HXNHHNBHELS 886,680 458,730 427,950
OLoEESSMUIA HR2MHY X3 (XS4
H) 886,680, 000 886,680
SEHALAHMY SSSHHEAYMHEA 2L (HEH 52,793 54,674 A 1,881
)
J| 26,397
= 26,396
307 glz2tol & 52,793 54,674 A1,881
J| 26,397
< 26,396
10 ALSISXAIEEE 2 H EX 52,793 54,674 A 1,881
OSHTQZHY STAHIAMHA 2YX &
(HEHE) 52,793,000 52,793
J| 26,397
< 26,396
SHLHHC SSAHNMAFANEA 2G X2 (XS A 1,788,603 965,663 822,940
)
J| 1,788,603
308 XtXIEHHSOIA 1,788,603 965,663 822,940
J| 1,788,603
01 X HHILEXS 1,788,603 965,663 822,940
OSSN SSeHEtMNEIA 2E XA
(KA HE) 1,788,603, 000 1,788,603
J| 1,788,603




2AM: LelsX
By Lo=xEd
gel: Lol=x S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SN HHC SSAHMAMMEA 2GR (KHA) 20,520 228,440 A 207,920
307 gl2tol & 3,600 3,600 0
10 AL SXNAIEEE2EH EX 3,600 3,600 0
OSHAFML SSATAMHEI A SAL
HMAH XA (HELH) 3,600,000 3,600
308 MtXIEHSOIH 16,920 27,160 A 10,240
01 HXNHHBHELS 16,920 27,160 A 10,240
OSHAFML SSATMHEI A SAL
HMoMad X2 (KDHE) 16,920,000 16,920
NELoEBSHE2IN 23X 755,550 752,878 2,672
= 377,775
= 377,775
307 21201 A 755,550 712,878 42,672
= 377,775
= 377,775
10 M2 SXNANEHE2IHEX 755,550 712,878 42,672
LOESHEEIZ 23 755,550,000 755,550
= 377,775
< 377,775
LOoESEEINZS 23 110,280 110,280 0
307 glz2tol & 110,280 110,280 0
10 AL SXNAIEEE2EH EX 61,680 61,680 0
OLQESHERI2 ML MM
35,280,000 35,280
OsYd E2LAEBSdE2IN& dXa
26,400,000 26,400
11T M SXAISE EX 48,600 48,600 0
oSt dEME S X 48,600,000 48,600
StiHOlo =M EHH 29X A 194,822 188,236 6,586
= 97,411
< 97,411
307 glz2+ol & 194,822 188,236 6,586
= 97,411
< 97,411
10 ALSISEXAIEEE2EHEX 194,822 188,236 6,586
Osttillof-l dE&H 2EXA
194,822,000 194,822
= 97,411
< 97,411
COQAANLSHEIsELAMS (AZRE) 4,975,382 13,819,392 A 8,844,010
= 4,322,437
< 652,945
403 XIS E A0l E 4,975,382 13,819,392 A 8,844,010
= 4,322,437

_6_




EM: Lel=x
Mo LoI=XEX
ool Lo=X B (B9 ®R)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 652,945
01 XIS A=Z2E X 4,975,382 13,819,392 N8,844,010
OLQ=SIAE JIsE2LAY 4,975,382,000 4,975,382
= 4,322,437
o= 652,945
24 ZAFAIE AX| 686,000 0 686,000
= 686,000
403 XX SRS K20 & 686,000 0 686,000
= 686,000
01 MHXHHNE2BE =X 686,000 0 686,000
ONHAEXNEZLEXNSE & SF&EZ HES
686,000,000 686,000
= 686,000
A2 AL 2HH XN 782,132 778,447 3,685
= 694,836
& 87,296
308 XAXIGHHMSO0lI& 782,132 778,447 3,685
= 694,836
= 87,296
01 IXHHIMNEXZ 782,132 778,447 3,685
Oz AN 89Hl X 782,132,000 782,132
= 694,836
& 87,296
LOolEXAIE & 30,413,991 31,651,369 N1,237,378
201 2Bt | 6.800 7,200 £ 400
01 A2t 2| H| 6,800 7,200 A 400
OAMIIEX ALY 22X E(HAREZ) 4,250,000 4,250
OQAE S A LA XE (0 AEZ) 2,550,000 2,550
307 QI2t0| ™ 108,700 107,000 1,700
04 CIZ2tSHALALS B X 38,000 38,000 0
OLolMEr - THIOLAIE SAMA Exnx & HE
AMUSH (O AHEZ) 38,000,000 38,000
05 QIZtREZ 70,700 39,000 31,700
O LOoQRAAAL 222 XN
70,700,000 70,700
308 MXISHMSOIA 30,204,991 31,487,169 N1,282,178
01 IXHHIMNEEXTZ 30,204,991 31,487,169 N1,282,178
OLQIMEAY Z)QUEE KA (AMESH)(
Ol AFE 2H) 21,228,720,000 21,228,720
OLoMEANAE SSAXN XS 122,129,000 122,129
OMIMIEEIQAEE XA (M2 0) (ol AR
2hH) 7,562,498,000 7,562,498
OMIMIIXEANE A 24 917,700,000 917,700
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373,944
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